1108F

1108N

1108




NR| ELEMENT 1108N 1108F
E R1906 1 1 1
E2 R1106 2 ! 1

E 3

R71108 3

FL R1908 & 1 1
ES R1106 § 1 1
E6 R1106 6 1 1




NR ELEMENT oo oo
E7 1 1
E8 EEX 1 1
ES PRI 1 1
£10 LI 1 1
E1 | e 1 :
E12 ) ey 1 1




NR ELEMENT | roan
E13 3 3
F14 2 ?
F15 3 3
E16 1 1
F17 1 1
F18 1 :

H=90cm




NR ELEMENT 108N H10gF
E19 1 1
E20 1 1
E21 6 6
E22 6 6
E23 — ? Y,
E24 N 1 1

H=120cm




W \ \ \ \ <~ \
=
S <~ <
—I m u@ wigyg wizy
=z i L - -1 — 00 —
L1l 3% {) ¢ {) ¢ I fess| | \Iz
>~ siEe % el | E )
Ll ) ¢ {) 3¢ ) 3¢ IR EE S =g
] 1 ©
Ll f _ 4
Y LN O M~ oo @) -
= N N N N N m

(N Ll (N (N Ll Ll




NR

ELEMENT

1108N

1108F

E 31

E32

°°°°°°°

F1100_24 PE_g15_v1

E33

FIIX_4 PE g15 v2

E34

F11X_11_PE_g15_v1

E 35




o0 108N 1108F

Nr Element DIN ELEMENT p3 2

9 { —) ISO 7380 |  M6x25 48 48

10 (o) DIN 9021 6x18 76 76

15 { —) 1SO 7380 |  M6x30 16 16

16 i 2 - K1 d21 B 76 76

17 1 é - 71 d21_B 76 76

18 DIN 985 M6 72 72

21 DIN 125 8x16 88 100
22 DIN 125 6x12 132 144
23 - M6X12 88 100
24 ISO 7380 | M6x16 16 28

25 ISO 7380 | M6x35 52 52

29 . K—%’i\%gz— 8 8

51 ISO 7380 | M6x45 4 4

58 - LOCTITE 1 1

61 - KL105 46
109 DIN 913 10x10 2 2

- e :
139 DIN7991 | M6x16 24 24 1/2




. 1108N 1108F
Nr Element DIN ELEMENT p3 2
213 @ Z NA 1 1 1
214 Z NA 2 1 1




1108N
1108F




1108N
1108F

150

S
L -
= o
o
150 H 200
o
o
~ o~
o o
- ~~
200
150
o
o
o
[¥a}
496
846
88
=) 80 126 20
~
[¥al
wn 5 i
o
©
82 Y . 3
=]
o~
¥ 55
o ©
© ©
120 20

88




1108N

1108F

A y'@
D)4

=

)\

=
)

@
'v/,
>
S

\




1108N INST 11 18
1108F INST 1166
1108N INST 1105
@1108F INST 11 41

INST 17 68A




INST_11_68B

INST_11_#




INST 11 18

INST_11 18




1108F

1108N INST 1105

1108F INST 11 L1
INST 11 68A

1108N @ INST_11_68C




-
' S
=
\.1"" 3 ‘; .
\1’ - 3 : ? . ‘
g
e : |
ity
!

INS
-
M

| 51

& n
' :
-
ED i; .
) M’f'- N : ? ‘ ‘
‘
’.
i '
oty
i

INS
-
1

| 18




INST_11_62

INST 1141
INST 11 68A




©

INST_11_70




_Z 1

INST

1108N
1108F




1108N

@
0 LEVEL

40

© min. 48h




1108F

Nr

Element

DIN

ELEMENT

®

61

[ e—]

KL105

g

G




